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Marking Scheme - Section B

Give 1 mark for each ¢

INustration(s) for awarding each mark
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ans: proof (3 marks}
&' finds expressions for 2 areas

e~ adds 4 to area of triangle and egquates

e’ reorganises to given form

s: k=6 (3 marks}

knows condition for equal roots
substitutes values
soives and discards

g3 x =1 2ﬁcm2; 16cm’ (3 marks)

(T A w2 P
€ A, =x(2k-2)1 A, =XXTH)
e} N s .
e~ x(x+hy+4=x(2k-2)
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oré; F=46

1 1 . 3 M ! 2 A
1 gubstitutes value of & to form quaaratic € 1 —dx+4=0
- solves tox € (r-2y=0x=2
e” finds arsas e 4, =20cm A4, =16cm”
22(a)-| amns: 3v+x=-3C (2 marks)
€' identifies required gradient € M= —<
e’ substitutes into general equation € y+11=-1(x-3) [orequivaient]
{b) ans:  D{-3,-9) (3 marks)
e' knows to use systems of equations ' evidence
¢ finds value for x - ox=-3
e  finds value for v and states coordinates Ty =290 (-3.-9)
{c} ans:  C(-9.-7) {1 mark)
i </ \
e' states coordinates of C e C(-9.-7)
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ans: (x-+

3y + (-1 =160 (4 marks)
identifiss diameter

finds centre
finds radius or 1
subs into genera

e AC1s diameter [ £ ADC is right-angled!
¢~ midpoint of AC is (-3.1)

¢ r=10orr =100

e (374 (-1 =100




Give 1 mark for each e Hlustration(s) for awarding each mark
Z3(a) | ans: (x—4)-15;p=-4,¢=-15 (4 marks)
€' finds derivative €  [f(x)=x —8x+1]
. . 2 2
€ starts to complete square € (x—4) .
€ completes € -15
€ states values of p and ¢ € p=-4g=-15
(by | ams: -ISwhenx=4 (2 marks)
¢ states minimum rate of change € rate of change is -15
€ states value of x T x=4
g 2 L
24 ans: —, 0 (5 marks)
3
€  collects terms to LHS and equates to 0 € 2cos'a-cosa—1=0
& factorises quadratic ¢ (Zcosa+I)cosa—1)=0
& finds values for cos g € cosu=—1orcosa=1
4 o - 4 Zm
¢ f{inds one value for o & -
3
€ finds second vaiue for ¢ & 0
Total: 30 marks
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